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Q. Introducing Ramesh a woman said,” his father in.law’sl father is my
father in law” . than how is Gita’s daughter in law related to Ramesh’s

daughter?
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) . Aman and a women walking in a garden if man’s mother in law is
mother of women’s mother in law. Than how is that man related to ladies

daughter?
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Puzzle form
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/" Q. Ramesh is father of Deepak.
®T  Deepak is father of Nikita. Maya is

grandmother of Rakesh. Rakesh
is son of Manu. Piyush is paternal
uncle of Rakesh. Rakesh is
brother of Nikita.
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Q. : Ravi is a son qf Aman’s father’s sister. Sahil is
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\ e son of Divy 0 s the mother of Gaurav an
/ T grandmother of Aman. Ashok is the father of Tahya
- and grandfather of Ravi. Divya is the wife of Ashok.
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f‘
-~ & &eidf-; . P,Q,R,S,T,U,V are family member.
b ) There are 3 Generations. P is mother in

T~ law of T. V is sister of S who is nephew
N of R. U is grand daughter of Q. T is not
married to V. T is a married women. R
%‘E‘@ and P are not sibling.
@{Sﬁ "@ P,Q,R,S,T,U,V 9RaR & W&+ &1 3
I NEATEI P. TR WA EI V, S Frag
() , TR FT ol I U, QT IR B T,

vVH ¥ T vs RafRa
AT €1 R 3R P HeeT 78 §




Six persons in the family having six different age. P
Is older than Q. T is older than P. S is younger than
R. P is third youngest person in the family. R is
younger than V and older than S. T is not older than
R. S is not the youngest person. The age of second
oldest is 55years.
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Q. Who among the following person is older than
17

(@) P

(b) S

(c)V

(d) R

(e) Both (c) and (d)



